Deivative Praticc SOLUTIONS!
(can’t have enough practice)
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If you can find the derivatives of the following functions you will be doing great!!!
(1) f(z) =223 -3z +5
62% — 3

(2) g(z) =32° — 42" +6
152% — 2829

(3) h(z) = =" +57
(2z + 5)6I2+5I

(4) P(q) = In(z3 + 5)
R
3 +5

(5) R(g) = (In(q +2))*
2In(q + 2)

q+2
(6) C(g) = ¢* + 3q — 20" =5
3% + 3 — (dg — 5)e2d 4

(7) D(p) =p" — Tp* +9p — 6+ 7"+
7p® — 14p + 9 + (9p® — Tp® + 6p°)e?’ P "

3
(8) S(p) = p* + 3p + (621’2) + 700000
3p +3+ 12p86f”2

9) f(2) = 5%
(32% — 62) (20" — Tx) — (23 — 322)(1425 — 7)
(227 — Tz)?

(10) g(z) = 3a3e?®
9x%e%x + 623>

(11) h(x) = 2=

rie®

(728 — 7)(z%e®’) — (27 — Tz)(4a3e®” + 5ade™)
18228




15¢3 —8¢+-8000000000
(12) P(q) = =155

(45¢% — 8)(e4°+87) — (15¢3 — 8¢ + 8000000000)((3¢2 4 8)e?"*84)
e2q3+16q

(13) R(q) = 2000¢%% + 50004798080 4 1.7
1600000¢™ + 3990400000475

(14) C(q) = szt
(800¢ — 1) — ((g + 2)800)
(800g — 1)2

(15) D(p) = p* — Tp — 7894561232165478958674123
3p2 -7
ep7_7
(16) S(p) = Yo,
(e 1 4+ 7p7e? 1) (p® — 8p) — (pe?” 1) (6p° — 8)
(p5 — 8p)?

(17) f(z) = Pty
(6% — 3)(3z° — 427 + 6) — (223 — 3z + 5)(152* — 2829)
(3x® — 427 4 6)2
(18) g(x) = (n(® +5) - (52 )

3z2 q+2
z3+5 800g—1

(800 — 1) — (g + 2)(800)
(800¢ — 1)2

+ (ln(azg +5)) -

(19) h(x) = 89x
89
5_ 7
(20) Pla) = Sty
(15¢" — 28¢°)(2¢° — 3¢+ 8) — (3¢° — 4¢" + 6)(6¢* — 3)
(2% — 3¢ +8)?

(21) R(q) = (2¢* — 3¢ +5) - (3¢° — 44" 4 6)
(4¢> = 3)(3¢° —4¢" 4 6) + (2¢° — 3¢ + 5)(15¢” — 28¢°)
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